Installation Manual Decaurg®

Round Shower Head Set
- For Model Code: 8562, 8562-2, 8562-3, 8560-2 (In different shower heads only)

No. Description Quantity
| Connector x |
2 Main Body x|
3 Decoration Cover x |
4 Shower Holder x |
5 Handheld Shower x |
6 Shower Head x |
7 Shower Hose x |
8 Grease Oil Pack x |
9 Teflon Tape x|
10 Allen Key x2

gSpare Parts :
il Spare M5 Grab Screws x4

12 Spare Shower Hose Rubber Washer x|
i3 Spare O-Rings For Connector x3
‘4 Spare M7 Screws for Shower Holder ~ x 2|

Instructions

I. Working pressure: 0.05-1 Mpa, Working temperature: 0-55°C.
2. Products are manufactured as per standard AS/NZS 3662:2005. as per Australian standard,
and with WaterMark & WELS certificate as shown in the packing.
3. All surfaces should be cleaned with water or mild liquid degergent. Do not use cream cleaner or

citrus based or chemical cleaning products.

Warranty Terms

All products are guaranteed as below:
I. 5 years guarantee against main body,finishing and Cartridge.
2. 2 years guarantee on washers and O-rings.



Installation Steps

V i A
X
Q \J
7y
Water supply
outlet G [/2"
Should wrap enough teflon tape over Screw the connector Mto water supply
the water supply outlet. outlet and tighten firmly by spanner.
- i 7
\

<

- eM5 x|

&R o
1

eM5 x|

Plug the shower hoder onto the main body
and tighten it firmly by 2 M5 grab screws.

J

7

Install The Rail
Very Important:

(1) Smear the grease oil ® on the connector O-rings.
Don't wrap teflon tape over the O-rings.

(2) To avoid connector O-rings scratched by screw tip
and causing water leakage, the screws must be loosed
enough before plug the main body onto the connector.

(3) Gently plug the main body onto the connector
and tighten it firmly by 2 M5 grab screws.

J

Rubber .
Washer«— ==

i

Make sure washers and flow
restrictor as shown inside shower rose.
Screw shower rose to arm.

~

~

Rubber .
Washer<«— >

I —

Make sure washer as shown
into shower hose.

Please note that the conical
nut should be connected to
handheld shower, the hex nut
should be connected to
shower rail.

J




